
Midterm 2

0

2

4

6

8

10

12

30 -- 39 40 -- 49 50 -- 59 60 -- 69 70 -- 79 80 -- 89 90 -- 99 100 -- 110

Scores

N
um

be
r 

of
 S

tu
de

nt
s

Average = 78
Median = 81
Max = 110
Stdev = 20

 
 
"Hardest" Question: Prove "(P = NP) or (P ≠ NP)" 
(Only 13 out of 32 answered correctly.) 
 
 
Top 5 incorrect answers: 
 
5. If N = 1 or P = 0, then P = NP.  (5 responses) 
 
4. Oh, I left my solution at home.  Will give it to you tomorrow :-) 
 
3. There is a great proof, but unfortunately the space provided is too small. (3 responses) 
 
2. I plan to take the million dollars rather than 5 points! (2 responses) 
 
1. If P = NP, ... (then) I'm sure that this has some sort of implication I don't want to 

think about.  Therefore, P ≠ NP. 


